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202 O4dl 51,840 51,840 0
01 = LH o4 Hi 51,840 51,840 0
O Jl=2gRF&0 180,000 x24H »12& 51,840
203 YR =2l 7,170 6,840 330
01 JI22H =AY 2,970 2,640 330
O JI&H2HHLFEH| 3,300,000& 13 0.9 2,970
04 EAN2IHRF=EHI 4,200 4,200 0
O REA2IYRZ=2AHI 350,000& »12& 4,200
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FMN: SAMNEESZ D

H: MNRES(SAHMEZI)
e LHEHHX S (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
MEES(STAMMESZDI) 100,000 20,000 80,000
WEAHAHXI= 100,000 20,000 80,000
=883 100,000 20,000 80,000
702 |28 E2 100,000 20,000 80,000
[PIERSE = 100,000 20,000 80,000

O =& AHII2 100,000,000 100,000




